
Ti,me Bnl1 0,1 Custom House, St. John, N. B.
\v 111 be hoisted half its elevation each day (Sundays excented) at

! °'Cl0Ck- At °ne ™inuto before 1 oTk k 
will h» hoisted its full length ; and at 1 o’clock, mean time, the Ball 
sl ouM henLT1' à Chronometer keeping correct Greenwich time
arnl tl “ ï™' 15s~ an'1 the difference between this
and th time shown by a Chronometer is the true error on Greenwich 
time at ■ he momen t. At the above hour of 1 o’clock, when the Ball 
drops, re resents 5h. 24m. 15s., at Greenwich, the error of Chrono­
meter may be ascertained, no matter where the vessel is lying 
Chrnnr ! vef8el3 arriyin<r in Saint John, should compare thefr
ràte wMeTf9 ^ Tim.e Bal1’ R8 il wil1 enable them to get sea 

a9 e-"h c,‘ fr?qnently varies from harbor rates. Latitude 45b. 16m 
42s. N., Longitude 4h. 24m. 25s. West of Greenwich.

George Hutchinson, Director,
L. 1). Huchinsox, Asst-Director.

EDUCATIONAL.
Educational Department of the Province:

1 rovincml Board of Education—The Governor; the members of 
the Executive Council; the President of the University of New 

and the Chief Superintendent of Education. 7 
Chief Superintendent of Education —William Crocket A M

PUS?8" AM‘8lMt8-Th0maS Nesbit’ Mke M Thompson and J

1208 APPENDIX.
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